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QUESTION BANK 
CLASS 12TH 

MATHEMATICS 
UNIT-6 

ASSERTION REASON QUESTIONS 
Instructions:  
Select the correct option for each Assertion-Reason question. 
(A) Both assertion and reason are correct, and the reason is the correct explanation of 
assertion. 
(B) Both assertion and reason are correct, but the reason does not explain the assertion. 
(C) Assertion is correct, but the reason is incorrect. 
(D) Assertion is incorrect, but the reason is correct. 
Ǔनदȶश :- 

1. Ĥ×येक Ĥæन मɅ एक कथन(A) और एक कारण (R) Ǒदया गया है। 

2. आपको दोनɉ कथनɉ का सावधानीपवू[क ͪवæलेषण करके सहȣ उƣर का चयन करना है: 
A) A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया करता है। 

B) A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं करता। 

C) A सहȣ है, लेͩ कन R गलत है। 

      D) A गलत है, लेͩ कन R सहȣ है। 

Q1.  
Assertion (A): If A and B are two independent events, then P(A|B) = P(A). 
Reason (R): The occurrence of one event affects the occurrence of an independent event. 
कथन (A): यǑद A और B दो èवतğं घटनाए ँहɇ, तो P(A|B) = P(A) होगा। 

कारण (R): एक घटना का घǑटत होना, एक èवतğं घटना के होने को Ĥभाͪवत करता है। 
 

Q2.  
Assertion (A): If A and B are two independent events, then P(A ∩ B) = P(A) P(B). 
Reason (R): The probability of the simultaneous occurrence of two dependent events is 
given by P(A ∩ B) = P(A)P(B|A). 
कथन (A): यǑद A और B दो èवतğं घटनाए ँहɇ, तो P(A ∩ B) = P(A) P(B) होगा। 

कारण (R): दो आͬĮत घटनाओ ंकȧ एक साथ घǑटत होने कȧ ĤाǓयकता P(A ∩ B) = P(A) P(B|A) स ेदȣ 
जाती है। 

 
Q3.  
Assertion (A): If A and B are independent events, then A and B' (complement of B) are 
also independent. 
Reason (R): Independence of events means that the probability of one event does not 
depend on the occurrence of another event. 
कथन (A): यǑद A और B èवतğं घटनाए ँहɇ, तो A और B' (B का परूक) भी èवतğं हɉगे। 

कारण (R): घटनाओ ंकȧ èवतğंता का अथ[ है ͩक एक घटना कȧ ĤाǓयकता  दसूरȣ घटना कȧ उपिèथǓत 

पर Ǔनभ[र नहȣं करती है। 
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Q4.  
Assertion (A): The total probability theorem is applicable when an event can occur in 
mutually exclusive and exhaustive ways. 
Reason (R): If B1, B2, ..., Bn are mutually exclusive and exhaustive events, then for any 
event A: P(A) = P(A|B1) P(B1) + P(A|B2) P(B2) + ... + P(A|Bn) P(Bn). 
कथन (A): पणू[ ĤाǓयकता Ĥमेय लाग ूहोता है जब कोई घटना परèपर अपवजȸ  और Ǔन:शषे  तरȣकɉ स े

हो सकती है। 

कारण (R): यǑद B1, B2, ..., Bn परèपर अपवजȸ  और Ǔन:शषे  घटनाएँ हɇ, तो ͩकसी भी घटना A के 

ͧलए: P(A) = P(A|B1) P(B1) + P(A|B2) P(B2) + ... + P(A|Bn) P(Bn)। 
 

Q5.  
Assertion (A): Bayes' theorem allows us to update the probability of a hypothesis based 
on new evidence. 
Reason (R): Bayes' theorem is given by P(Bi|A) = (P(A|Bi) P(Bi)) / (Σ P(A|Bj) P(Bj)). 
कथन (A): बजे  Ĥमेय हमɅ ͩकसी पǐरकãपना कȧ ĤाǓयकता  को नए साêय के आधार पर अपडटे करन े

कȧ अनमुǓत देता है। 

कारण (R): बजे  Ĥमेय Ǔनàनानसुार Ǒदया गया है: P(Bi|A) = (P(A|Bi) P(Bi)) / (Σ P(A|Bj) P(Bj))। 
 

Q6.  
Assertion (A): A random variable is a function that assigns numerical values to the 
outcomes of a random experiment. 
Reason (R): A random variable can only take integer values. 
कथन (A): एक याǺिÍछक चर एक फलन है जो एक याǺिÍछक Ĥयोग के पǐरणामɉ को सÉंया×मक 

मान ǓनǑद[çट करता है। 

कारण (R): एक याǺिÍछक चर केवल पणूाɍक मान ल ेसकता है। 
 

Q7.  
Assertion (A): The sum of probabilities of all possible values of a discrete random 
variable is always 1. 
Reason (R): A probability distribution describes how probabilities are distributed over 
different values of a random variable. 
कथन (A): सभी सभंाͪवत मानɉ कȧ ĤाǓयकताओ ंका योग एक ͪवͪवÈत याǺिÍछक चर के ͧलए हमेशा 1 

होता है। 

कारण (R): एक ĤाǓयकता ͪवतरण यह वण[न करता है ͩक ͩकसी याǺिÍछक चर के ͪवͧभÛन मानɉ पर 

ĤाǓयकताए ँकैसे ͪवतǐरत होती हɇ। 
 

Q8.  
Assertion (A): The mean of a discrete random variable X is given by E(X) = Σ xi P(xi). 
Reason (R): The mean of a random variable represents the most frequently occurring 
value in the data. 
कथन (A): एक ͪवͪवÈत याǺिÍछक चर X का माÚय E(X) = Σ xi P(xi)स ेǑदया जाता है।` 
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कारण (R): याǺिÍछक चर का माÚय डटेा मɅ सबस ेअͬधक बार घǑटत होने वाल ेमान को दशा[ता है। 
 
 

MCQs 
1.A bag contains 5 red and 3 blue balls. Two balls are drawn one by one without 
replacement. What is the probability that the second ball is blue, given that the first ball 
drawn was red? 
एक बगै मɅ 5 लाल और 3 नीलȣ गɅदɅ हɇ। ǒबना ĤǓतèथापन के एक-एक करके दो गɅदɅ Ǔनकालȣ जाती हɇ। 

यǑद पहलȣ Ǔनकालȣ गई गɅद लाल हो, तो दसूरȣ गɅद नीलȣ होने कȧ ĤाǓयकता Èया होगी? 
A) 3/7 
B) 5/8 
C) 3/8 
D) 5/7 
2,If A and B are two independent events such that P(A) = 0.4 and P(B) = 0.5, what is P(A 
∩ B)? 
यǑद A और B दो èवतğं घटनाएँ हɇ और P(A) = 0.4 तथा P(B) = 0.5 है, तो P(A ∩ B) का मान Èया 
होगा? 
A) 0.2 
B) 0.3 
C) 0.4 
D) 0.5 
3.If A and B are two independent events, then which of the following is always true? 
यǑद A और B दो èवतğं घटनाएँ हɇ, तो Ǔनàनͧलͨखत मɅ स ेकौन-सा हमेशा स×य होगा? 
A) P(A | B) = P(A) 
B) P(B | A) = P(A) 
C) P(A ∩ B) = 0 
D) P(A ∪ B) = P(A) + P(B) 
4.A company has two machines A and B. Machine A produces 60% of the total items, 
while machine B produces 40%. The probability of a defective item from A is 0.02 and 
from B is 0.05. What is the probability of selecting a defective item randomly? 
एक कंपनी मɅ दो मशीनɅ A और B हɇ। मशीन A कुल उ×पाǑदत वèतओु ंका 60% और मशीन B 40% 

उ×पाǑदत करती है। मशीन A स ेदोषपणू[ वèत ुबनने कȧ ĤाǓयकता 0.02 और मशीन B स े 0.05 है। 

याǺिÍछक Ǿप स ेचुनी गई वèत ुके दोषपणू[ होने कȧ ĤाǓयकता Èया होगी? 
A) 0.032 
B) 0.042 
C) 0.052 
D) 0.062 
5.A test for a disease gives a positive result with 98% probability when a person has the 
disease and with 5% probability when a person does not have the disease. If the 
probability of having the disease in a population is 0.1, what is the probability that a 
randomly selected person who tested positive actually has the disease? 
ͩकसी बीमारȣ के ͧलए ͩकया गया परȣ¢ण उस åयिÈत मɅ बीमारȣ होने पर 98% और बीमारȣ न होने पर 

5% सकारा×मक पǐरणाम देता है। यǑद ͩकसी आबादȣ मɅ बीमारȣ होने कȧ ĤाǓयकता 0.1 है, तो 
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याǺिÍछक Ǿप स ेचुन ेगए åयिÈत के वाèतव मɅ सĐंͧमत होने कȧ ĤाǓयकता ͩकतनी होगी यǑद उसका 
परȣ¢ण सकारा×मक आया हो? 
A) 0.68 
B) 0.45 
C) 0.28 
D) 0.15 
6.If X is a random variable with P(X=1) = 0.2, P(X=2) = 0.5, and P(X=3) = 0.3, what is 
P(X<3)? 
यǑद X एक  याǺिÍछक चर है, िजसके ͧलए P(X=1) = 0.2, P(X=2) = 0.5, और P(X=3) = 0.3 है, तो 
P(X<3) का मान Èया होगा? 
A) 0.3 
B) 0.5 
C) 0.7 
D) 1.0 
7.If a fair die is rolled, what is the expected value of the number that appears on top? 
यǑद एक Ûयाáय  पासा फɅ का जाता है, तो शीष[ पर आने वालȣ सÉंया का अपेͯ¢त मान Èया होगा? 
A) 2.5 
B) 3.5 
C) 4.5 
D) 5.5 
8.If the probability distribution of X is given as P(X=1) = 0.2, P(X=2) = 0.3, P(X=3) = 0.5, 
then what is E(X)? 
यǑद X का ĤाǓयकता ͪवतरण Ǒदया गया है: P(X=1) = 0.2, P(X=2) = 0.3, P(X=3) = 0.5, तो E(X) का 
मान Èया होगा? 
A) 1.5 
B) 2.3 
C) 2.7 
D) 3.0 
1 Mark Very Short Answer Questions 
1.यǑद P(A|B) = 0.6 और P(B) = 0.5 है, तो P(A ∩ B) £ात करɅ। 
If P(A|B) = 0.6 and P(B) = 0.5, find P(A ∩ B). 
2.यǑद दो घटनाएँ A और B के ͧलए P(A) = 0.4, P(B) = 0.5, और P(A ∩ B) = 0.2 Ǒदया गया है, तो 
Èया व ेèवतğं हɇ? स×याͪपत करɅ। 
If two events A and B have P(A) = 0.4, P(B) = 0.5, and P(A ∩ B) = 0.2, verify if they are 
independent. 
3.यǑद A और B èवतğं घटनाएँ हɇ और P(A) = 0.6, P(B) = 0.7 है, तो P(A ∩ B) £ात करɅ। 
If A and B are independent events and P(A) = 0.6, P(B) = 0.7, find P(A ∩ B). 
4.एक बगै मɅ 3 लाल और 2 हरे गɅद हɇ। याǺिÍछक Ǿप स ेएक गɅद Ǔनकालȣ जाती है और यह लाल पाई 

जाती है। यǑद दो बगै हɇ िजनमɅ ͪवͧभÛन रंगɉ का ͪवतरण है, तो Ĥथम बगै स ेगɅद Ǔनकालȣ जान ेकȧ 
ĤाǓयकता £ात करɅ। 
A bag contains 3 red and 2 green balls. A ball is drawn randomly and found to be red. 
What is the probability that it was drawn from the first bag if there are two bags with 
different color distributions? 
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5.यǑद ͩकसी åयिÈत का ͩकसी बीमारȣ के ͧलए परȣ¢ण सकारा×मक आता है, लेͩ कन परȣ¢ण केवल 

95% सटȣक है और बीमारȣ कȧ åयापकता 0.01 है, तो बजे Ĥमेय का उपयोग करके £ात करɅ ͩक उस 

åयिÈत को वाèतव मɅ वह बीमारȣ होने कȧ ͩकतनी ĤाǓयकता  है। 
If a person tests positive for a disease, but the test is only 95% accurate and the disease 
prevalence is 0.01, find the probability that the person actually has the disease using 
Bayes’ Theorem. 
6.यǑद एक असतत याǺिÍछक चर X के मान 1, 2, 3 हɇ और उनकȧ ĤाǓयकताए ँ0.2, 0.5, 0.3 हɇ, तो P(X 

≥ 2) £ात करɅ। 
If a discrete random variable X takes values 1, 2, 3 with probabilities 0.2, 0.5, 0.3, 
respectively, find P(X ≥ 2). 
7.यǑद एक Ûयाáय  पासा फɅ का जाता है, तो याǺिÍछक चर X के ĤाǓयकता ͪवतरण को पǐरभाͪषत करɅ। 
If a fair die is rolled, define the probability distribution of the random variable X, where 
X represents the number appearing on the die. 
8. यǑद X का ĤाǓयकता ͪवतरण Ǔनàनͧलͨखत है: 
 

X: 1 2 3 
P(X): 0.2 0.3 0.5 

 
तो अपेͯ¢त मान E(X) £ात करɅ। 
Find the expected value E(X) if the probability distribution of X is given as: 
 

X: 1 2 3 
P(X): 0.2 0.3 0.5 

9. एक कंपनी दो Ĥकार के उ×पाद बनाती है: A और B। उ×पाद A के दोषपणू[ होने कȧ ĤाǓयकता  0.02 

और B के ͧलए 0.05 है। यǑद कुल उ×पादɉ का 70% A और 30% B हɇ, तो याǺिÍछक Ǿप स ेचुने गए 

दोषपणू[ उ×पाद के A होने कȧ ĤाǓयकता £ात करɅ। 
A company manufactures two types of products: A and B. The probability of a defective 
product A is 0.02 and for B is 0.05. If 70% of total products are A and 30% are B, find the 
probability that a randomly chosen defective product is of type A. 
Questions (2 Marks) 
1. A factory produces 60% high-quality products and 40% low-quality products. If 5% 
of high-quality products and 15% of low-quality products are defective, what is the 
probability that a randomly selected defective product is from the low-quality category? 
   1. एक कारखाना 60% उÍच गणुवƣा वाल ेउ×पाद और 40% Ǔनàन गणुवƣा वाल ेउ×पाद बनाता है। 

यǑद उÍच गणुवƣा वाल ेउ×पादɉ मɅ स े5% और Ǔनàन गणुवƣा वाल ेउ×पादɉ मɅ स े15% दोषपणू[ हɇ, तो 
ͩकसी याǺिÍछक Ǿप स ेचुन ेगए दोषपणू[ उ×पाद के Ǔनàन गणुवƣा के होने कȧ ĤाǓयकता  Èया होगी? 
 
2. Events A and B are such that P(A) = 0.4, P(B) = 0.5, and P(A ∩ B) = 0.2. Check whether 
A and B are independent events. 
   2. दो घटनाएँ A और B इस Ĥकार दȣ गई हɇ: P(A) = 0.4, P(B) = 0.5, और P(A ∩ B) = 0.2। जाँच करɅ 
ͩक Èया A और B èवतğं घटनाएँ हɇ। 
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3. A bag contains 4 red and 6 blue balls. Two balls are drawn at random. Find the 
probability that both balls are of the same color. 
  एक थैले मɅ 4 लाल और 6 नील ेगɅदɅ हɇ। याǺिÍछक Ǿप स ेदो गɅदɅ Ǔनकालȣ जाती हɇ। ĤाǓयकता  £ात 

करɅ ͩक दोनɉ गɅदɅ एक हȣ रंग कȧ हɉ। 
 
4. An insurance company classifies its policyholders into three categories: low risk 
(30%), medium risk (50%), and high risk (20%). The probability of a claim being made 
by these categories is 0.02, 0.05, and 0.1, respectively. If a randomly selected claim is 
analyzed, find the probability that it came from a high-risk policyholder. 
  एक बीमा कंपनी अपने पॉͧलसी धारकɉ को तीन Įेͨणयɉ मɅ वगȸकृत करती है: कम जोͨखम (30%), 

मÚयम जोͨखम (50%), और उÍच जोͨखम (20%)। इन Įेͨणयɉ स ेदावा ͩकए जान ेकȧ ĤाǓयकता  

Đमशः 0.02, 0.05, और 0.1 है। यǑद ͩकसी याǺिÍछक Ǿप स ेचुने गए दावे का ͪवæलेषण ͩकया जाए, तो 
यह उÍच जोͨखम वाल ेपॉͧलसी धारक स ेआने कȧ ĤाǓयकता  £ात करɅ। 
 
5. A and B are two independent events with P(A) = 0.3 and P(B) = 0.6. Find P(A ∪ B). 
    A और B दो èवतğं घटनाएँ हɇ िजनके ͧलए P(A) = 0.3 और P(B) = 0.6 है। P(A ∪ B) £ात करɅ। 
 
6. A biased die is such that the probability of getting a six is twice that of any other 
number. Find the probability of getting a six. 
 एक अͧभनत  पास ेमɅ छह आने कȧ ĤाǓयकता  ͩकसी अÛय सÉंया कȧ तलुना मɅ दोगनुी है। छह आने 

कȧ ĤाǓयकता  £ात करɅ। 
 
7. If X is a random variable with probability distribution P(X = x) = kx for x = 1, 2, 3, 4, 
find the value of k. 
 यǑद X एक याǺिÍछक चर है िजसका ĤाǓयकता ͪवतरण P(X = x) = kx है जहा ँx = 1, 2, 3, 4 है, तो k 

का मान £ात करɅ। 
 
8. The probability distribution of a random variable X is given as 
X: 0 1 2 3 
P(X): 0.1 0.3 0.4 0.2 
 
Find the mean of X. 
 एक याǺिÍछक चर X का ĤाǓयकता ͪवतरण Ǔनàनानसुार Ǒदया गया है: 
 
X: 0 1 2 3 
P(X): 0.1 0.3 0.4 0.2 
X का माÚय £ात करɅ। 
 
9.A fair coin is tossed 3 times. Let X be the number of heads obtained. Find the 
probability distribution of X. 
   एक Ûयाáय  ͧसÈका 3 बार उछाला जाता है। X वह सÉंया है जो हेɬस कȧ ĤाÜत होती है। X का 
ĤाǓयकता ͪवतरण £ात करɅ। 

4 Marks Questions 
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1. A doctor knows that a particular disease affects 1 in 1000 people. A test for the disease is 
99% accurate for infected individuals and 98% accurate for non-infected individuals. If a 
randomly selected person tests positive, what is the probability that the person actually has 
the disease? 

एक डॉÈटर जानता है ͩक एक ͪवशषे बीमारȣ 1000 मɅ से 1 åयिÈत को Ĥभाͪवत करती है। 
इस बीमारȣ के ͧलए एक परȣ¢ण सĐंͧमत åयिÈतयɉ के ͧलए 99% सटȣक और गरै-सĐंͧमत 
åयिÈतयɉ के ͧलए 98% सटȣक है। यǑद एक याǺिÍछक Ǿप से चयǓनत åयिÈत का परȣ¢ण 
सकारा×मक आता है, तो इस बात कȧ ĤाǓयकता Èया है ͩक वाèतव मɅ उस ेयह बीमारȣ है? 

2. A bag contains 5 red and 3 green balls. Two balls are drawn one after another without 
replacement. What is the probability that the second ball drawn is red given that the first ball 
drawn was also red? 

एक बगै मɅ 5 लाल और 3 हरे गɅद हɇ। ǒबना ĤǓतèथापन के एक के बाद एक दो गɅदɅ Ǔनकालȣ 
जाती हɇ। यǑद पहलȣ Ǔनकालȣ गई गɅद लाल हो, तो इस बात कȧ ĤाǓयकता Èया है ͩक दसूरȣ 
Ǔनकालȣ गई गɅद भी लाल होगी? 

3. Suppose the probability that it rains on any given day is 0.4. If it rains, the probability of a 
person carrying an umbrella is 0.9, and if it does not rain, the probability of carrying an 
umbrella is 0.2. Find the probability that a randomly selected person carrying an umbrella on 
a particular day is actually experiencing a rainy day. 

मान लȣिजए ͩक ͩकसी Ǒदन वषा[ होने कȧ ĤाǓयकता 0.4 है। यǑद वषा[ होती है, तो ͩकसी 
åयिÈत के छाता ले जाने कȧ ĤाǓयकता 0.9 है, और यǑद वषा[ नहȣं होती है, तो छाता ले जाने 
कȧ ĤाǓयकता 0.2 है। इस बात कȧ ĤाǓयकता £ात कȧिजए ͩक ͩकसी ͪवशषे Ǒदन एक 
याǺिÍछक Ǿप से चयǓनत åयिÈत जो छाता लेकर चल रहा है, वाèतव मɅ वषा[ का सामना 
कर रहा है। 
4. A factory has two machines, A and B, which produce 60% and 40% of the total 
production, respectively. If 2% of the items produced by machine A are defective and 5% of 
the items produced by machine B are defective, find the probability that a randomly selected 
defective item was produced by machine B. 

एक कारखाने मɅ दो मशीनɅ A और B हɇ, जो Đमशः कुल उ×पादन का 60% और 40% उ×पÛन 
करती हɇ। यǑद मशीन A ɮवारा Ǔनͧम[त वèतओु ंमɅ से 2% दोषपणू[ हɇ और मशीन B ɮवारा 
Ǔनͧम[त वèतओुं मɅ स े5% दोषपणू[ हɇ, तो इस बात कȧ ĤाǓयकता £ात कȧिजए ͩक एक 
याǺिÍछक Ǿप से चयǓनत दोषपणू[ वèत ुमशीन B ɮवारा बनाई गई थी। 
5. A and B are two independent events. If P(A) = 0.5 and P(B) = 0.3, find P(A ∩ B) and P(A 
∪ B). 

A और B दो èवतğं घटनाए ँहɇ। यǑद P(A) = 0.5 और P(B) = 0.3 है, तो P(A ∩ B) और P(A ∪ 

B) कȧ गणना करɅ। 
6. Let X be a random variable with the probability distribution given by the following table: 

X 1 2 3 4 

P(X) 0.1 0.3 0.4 0.2 
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7. Find the mean (expected value) of X. 

मान लȣिजए ͩक X एक याǺिÍछक चर है, िजसका ĤाǓयकता ͪवतरण Ǔनàनͧलͨखत 
ताͧलका मɅ Ǒदया गया है: 

X 1 2 3 4 

P(X) 0.1 0.3 0.4 0.2 

X का माÚय (अपेͯ¢त मान) £ात कȧिजए। 
A die is tossed twice. Let X denote the number of times 3 appears. Find the 
probability distribution of X. 

8. एक पासा दो बार उछाला जाता है। मान लȣिजए ͩक X उस संÉया को दशा[ता है 
जब 3 अकं आता है। X का ĤाǓयकता ͪवतरण £ात करɅ। 
9.The probability of hitting a target by a shooter is 0.8. If he fires three times, find the 
probability that he hits the target at least twice. 

एक Ǔनशानेबाज ɮवारा लêय को मारने कȧ ĤाǓयकता 0.8 है। यǑद वह तीन बार गोलȣ 
चलाता है, तो इस बात कȧ ĤाǓयकता £ात कȧिजए ͩक वह कम से कम दो बार लêय 
को मारे। 
10.A company manufactures light bulbs, and their lifetime (in years) is modeled as a 
random variable X with the following probability distribution: 

X 1 2 3 4 5 

P(X) 0.1 0.2 0.3 0.3 0.1 

11.Find the expected lifetime of a randomly chosen bulb. 

एक कंपनी लाइट बãब बनाती है, और उनकȧ आयु (वषɟ मɅ) एक याǺिÍछक चर X के 
Ǿप मɅ दȣ जाती है, िजसका ĤाǓयकता ͪवतरण Ǔनàनͧलͨखत है: 

X 1 2 3 4 5 

P(X) 0.1 0.2 0.3 0.3 0.1 

याǺिÍछक Ǿप से चुने गए बãब कȧ अपेͯ¢त आयु £ात कȧिजए। 
5 Marks Questions  
Q1. In a school, 60% of students participate in sports, and 40% participate in cultural 
activities. If 30% of students participate in both sports and cultural activities, a student 
is randomly selected. Find the probability that the student participates in sports given 
that they are involved in cultural activities. Also, explain the significance of conditional 
probability in real-life decision-making. 
एक èकूल मɅ 60% छाğ खेलɉ मɅ भाग लेत ेहɇ और 40% छाğ साèंकृǓतक गǓतͪवͬधयɉ मɅ भाग लेत ेहɇ। 

यǑद 30% छाğ दोनɉ गǓतͪवͬधयɉ मɅ भाग लेत ेहɇ, तो याǺिÍछक Ǿप स ेचुन ेगए छाğ के खलेɉ मɅ भाग 

लेने कȧ सशत[ ĤाǓयकता £ात करɅ , यǑद यह £ात हो ͩक वह साèंकृǓतक गǓतͪवͬधयɉ मɅ भाग लेता है। 

साथ हȣ, वाèतͪवक जीवन मɅ सशत[ ĤाǓयकता के मह×व कȧ åयाÉया करɅ। 
Q2. A factory has two machines, A and B. The probability that machine A works on a 
given day is 0.8, and for machine B, it is 0.9. If both machines work independently, find 
the probability that on a particular day: 
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(a) Both machines are working. 
(b) At least one machine is working. 
(c) None of the machines is working. 
एक फैÈĚȣ मɅ दो मशीनɅ, A और B हɇ। ͩकसी भी Ǒदन मशीन A के काम करने कȧ ĤाǓयकता 0.8 है और 

मशीन B के काम करने कȧ ĤाǓयकता 0.9 है। यǑद दोनɉ मशीनɅ èवतğं Ǿप स ेकाम करती हɇ, तो 
Ǔनàनͧलͨखत कȧ ĤाǓयकता £ात करɅ: 
(a) दोनɉ मशीनɅ काम कर रहȣ हɇ। 

(b) कम स ेकम एक मशीन काम कर रहȣ है। 

(c) कोई भी मशीन काम नहȣं कर रहȣ है। 
Q3. Suppose a bag contains 6 red and 4 blue balls. Two balls are drawn randomly one 
after the other without replacement. Find the probability that the second ball drawn is 
red, given that the first ball drawn was blue. 
मान लɅ ͩक एक थैल ेमɅ 6 लाल और 4 नीलȣ गɅदɅ हɇ। ǒबना ĤǓतèथापन के एक के बाद एक दो गɅदɅ 
याǺिÍछक Ǿप स ेǓनकालȣ जाती हɇ। यǑद पहलȣ Ǔनकालȣ गई गɅद नीलȣ हो, तो दसूरȣ गɅद के लाल होने कȧ 
ĤाǓयकता £ात करɅ। 
Q4. A software company recruits engineers from two colleges, X and Y. The probability 
that a randomly selected recruit is from college X is 0.7, and the probability that a 
recruit from X is skilled in Python is 0.8, while from Y, it is 0.6. If a recruit is selected at 
random and found to be skilled in Python, find the probability that the recruit is from 
college X using Bayes’ Theorem. 
एक सॉÝटवेयर कंपनी दो कॉलजेɉ, X और Y स ेइंजीǓनयरɉ कȧ भतȸ करती है। याǺिÍछक Ǿप स ेचयǓनत 

भतȸ का X कॉलेज स ेहोने कȧ ĤाǓयकता 0.7 है, और यǑद भतȸ X स ेहो तो उसके Python मɅ कुशल होने 

कȧ ĤाǓयकता 0.8 है, जबͩक Y स ेहोने कȧ ĤाǓयकता 0.6 है। यǑद कोई भतȸ याǺिÍछक Ǿप स ेचुनी जाती 
है और पाया जाता है ͩक वह Python मɅ कुशल है, तो बजे Ĥमेय का उपयोग करके £ात करɅ ͩक भतȸ X 

कॉलेज स ेहै। 
Q5. A fair die is rolled twice. Let X denote the number of times a 3 appears. Construct the 
probability distribution of X and find its mean. 
एक Ûयाáय पासा दो बार फɅ का जाता है। X को 3 आने कȧ सÉंया के Ǿप मɅ पǐरभाͪषत करɅ। X का 
ĤाǓयकता ͪवतरण तयैार करɅ और इसका माÚय £ात करɅ। 
Q6. A company manufactures bulbs, and 5% of them are defective. A quality control 
manager picks a bulb randomly. If the bulb is defective, he performs a second test to 
confirm the defect, which has an accuracy of 95%. Using the total probability theorem, 
find the probability that a randomly picked bulb is declared defective. 
एक कंपनी बãब बनाती है, िजनमɅ स े5% दोषपणू[ होत ेहɇ। एक गणुवƣा Ǔनयğंण Ĥबधंक याǺिÍछक Ǿप 

स ेएक बãब चुनता है। यǑद बãब दोषपणू[ पाया जाता है, तो वह दोष कȧ पिुçट करने के ͧलए एक दसूरा 
परȣ¢ण करता है, िजसकȧ सटȣकता 95% है। कुल ĤाǓयकता Ĥमेय का उपयोग करके £ात करɅ ͩक 

याǺिÍछक Ǿप स ेचुना गया बãब दोषपणू[ घोͪषत ͩकया जाएगा। 
Q7. A student takes a test consisting of two questions. The probability that the student 
solves the first question is 0.7 and the probability that he solves the second question 
given that he solved the first one is 0.9. Find the probability that the student solves both 
questions. 
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एक छाğ दो Ĥæनɉ वालȣ परȣ¢ा देता है। पहले Ĥæन को हल करने कȧ ĤाǓयकता 0.7 है और यǑद उसने 

पहला Ĥæन हल कर ͧलया तो दसूरे को हल करने कȧ ĤाǓयकता 0.9 है। £ात करɅ ͩक छाğ दोनɉ Ĥæनɉ को 
हल करेगा। 
Q8. Consider a random variable X representing the number of heads obtained when a 
fair coin is tossed three times. Construct the probability distribution table and compute 
the expected value (mean) of X. 
याǺिÍछक चर X को पǐरभाͪषत करɅ जो यह दशा[ता है ͩक एक Ûयाáय  ͧसÈका तीन बार उछाला जाता है 

और ĤाÜत हेɬस कȧ सÉंया को दशा[ता है। X के ͧलए ĤाǓयकता ͪवतरण ताͧलका तयैार करɅ और X का 
अपेͯ¢त मान (माÚय) £ात करɅ। 
Q9. A person has two bags. Bag I contains 4 white and 3 black balls, while Bag II 
contains 5 white and 4 black balls. One bag is chosen randomly, and a ball is drawn from 
it. Find the probability that the ball drawn is white using the Law of Total Probability. 
एक åयिÈत के पास दो बगै हɇ। बगै I मɅ 4 सफेद और 3 काल ेगɅदɅ हɇ, जबͩक बगै II मɅ 5 सफेद और 4 काले 
गɅदɅ हɇ। एक बगै को याǺिÍछक Ǿप स ेचुना जाता है और उससे एक गɅद Ǔनकालȣ जाती है। कुल ĤाǓयकता 
के Ǔनयम का उपयोग करके £ात करɅ ͩक Ǔनकालȣ गई गɅद सफेद है। 
Q10. Suppose a student is preparing for an exam and studies either 2 hours or 4 hours a 
day with equal probability. If he studies 2 hours, the probability of passing is 0.6, and if 
he studies 4 hours, the probability of passing is 0.9. Using Bayes’ theorem, determine 
the probability that the student studied 4 hours given that he passed the exam. 
मान लɅ ͩक एक छाğ परȣ¢ा कȧ तयैारȣ कर रहा है और वह ĤǓतǑदन 2 घटें या 4 घटें समान ĤाǓयकता के 

साथ अÚययन करता है। यǑद वह 2 घटें अÚययन करता है, तो पास होने कȧ ĤाǓयकता 0.6 है, और यǑद 

वह 4 घटें अÚययन करता है, तो पास होने कȧ ĤाǓयकता 0.9 है। बजे Ĥमेय का उपयोग करके £ात करɅ 
ͩक छाğ न े4 घटें अÚययन ͩकया होगा यǑद वह परȣ¢ा मɅ पास हो गया। 

 
 

Case Study 1:  
A hospital uses a diagnostic test for detecting a particular disease. From past records, 
it is known that 2% of the patients tested have the disease. The test correctly identifies 
a diseased patient 98% of the time and correctly identifies a non-diseased patient 95% 
of the time. A patient is randomly tested, and the test result is positive. 
अèपताल एक ͪवशषे बीमारȣ का पता लगाने के ͧलए एक नदैाǓनक परȣ¢ण का उपयोग 
करता है। ͪपछले ǐरकॉड[ के अनसुार, यह £ात है ͩक परȣ¢ण ͩकए गए 2% रोͬगयɉ को यह 
बीमारȣ होती है। परȣ¢ण सहȣ रोगी को 98% समय पर पहचानता है और गरै-रोगी को 95% 

समय पर सहȣ पहचानता है। एक मरȣज का याǺिÍछक परȣ¢ण ͩकया जाता है और परȣ¢ण 
पǐरणाम सकारा×मक आता है। 
Questions  
1.What is the probability that the randomly chosen patient actually has the disease given that 
the test result is positive? (Use Bayes’ Theorem) 

Ǒदए गए सकारा×मक परȣ¢ण पǐरणाम के आधार पर, यह ĤाǓयकता  ͩकतनी है ͩक रोगी 
वाèतव मɅ रोगĒèत है? (बजे) Ĥमेय का उपयोग करɅ) [2 Marks] 
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2.What is the probability that a patient does not have the disease but the test still shows 
positive? 

एक मरȣज को बीमारȣ नहȣ ंहै, ͩफर भी परȣ¢ण सकारा×मक Ǒदखाने कȧ ĤाǓयकता  Èया है? [1 

Mark] 
3.What is the probability that a randomly selected patient has the disease? 

याǺिÍछक Ǿप से चुने गए मरȣज को बीमारȣ होने कȧ ĤाǓयकता  ͩकतनी है? [1 Mark] 

4. What is the probability that a non-diseased person is correctly identified by te test? 

इस बात कȧ Èया ĤाǓयकता है ͩक एक रोग-मÈुत åयिÈत को परȣ¢ण ɮवारा सहȣ पहचाना 
जाए? [1 Mark] 

 
Case Study 2:  
A fair coin is tossed three times, and the number of heads obtained is recorded as a 
random variable X,The probability distribution of X is as follows: 

X (No. of Heads) 0 1 2 3 
P(X = x) 1/8 3/8 3/8 1/8 

Questions  
1.Find the mean (expected value) of the random variable X. 

याǺिÍछक चर X का माÚय (अपेͯ¢त मान) £ात करɅ। [2 Marks] 

2.What is the probability of getting at least two heads? 

कम से कम दो हेड आने कȧ ĤाǓयकता  ͩकतनी है? [1 Mark] 

3.What is the probability that X takes an even value? 

यह ĤाǓयकता  Èया है ͩक X एक सम संÉया Ēहण करता है? [1 Mark] 

4.What is the probability that the number of heads obtained is at least 2 when a fair coin is 
tossed three times? 

जब एक उͬचत ͧसÈका तीन बार उछाला जाता है, तो कम से कम 2 बार हेड आन ेकȧ Èया 
ĤाǓयकता है? 

[1 Mark] 
 

Case Study 3:  
A factory produces items from two machines, Machine A and Machine B. Machine A 
produces 60% of the items and Machine B produces 40% of the items. From past data, it is 
known that Machine A produces 3% defective items, while Machine B produces 5% 
defective items. A randomly selected item is found to be defective. 

एक कारखाना दो मशीनɉ, मशीन A और मशीन B से वèतएुं बनाता है। मशीन A 60% वèतएुं 
और मशीन B 40% वèतएुं बनाती है। ͪपछले आंकड़ɉ के अनसुार, मशीन A 3% दोषपणू[ वèतएुं 
और मशीन B 5% दोषपणू[ वèतएुं बनाती है। एक याǺिÍछक Ǿप से चयǓनत वèत ुदोषपणू[ 
पाई जाती है। 
Questions  
1.What is the probability that a randomly selected item is defective? (Use the theorem of total 
probability) 

यह ĤाǓयकता  ͩकतनी है ͩक याǺिÍछक Ǿप से चयǓनत वèत ुदोषपणू[ होगी? (पणू[ ĤाǓयकता 
Ĥमेय का उपयोग करɅ) [2 Marks] 
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2.If an item is found to be defective, what is the probability that it was produced by Machine 
A? (Use Bayes’ Theorem) 

यǑद कोई वèत ुदोषपणू[ पाई जाती है, तो उसके मशीन A ɮवारा बनाई जाने कȧ ĤाǓयकता  
ͩकतनी है? (बसे Ĥमेय का उपयोग करɅ) [1 Mark] 

3.If an item is randomly selected, what is the probability that it was produced by Machine B? 

यǑद कोई वèत ुयाǺिÍछक Ǿप से चुनी जाती है, तो उसके मशीन B ɮवारा बनाए जाने कȧ 
ĤाǓयकता  ͩकतनी है? [1 Mark] 

4.What is the probability that an item produced by Machine B is non-defective? 

मशीन B ɮवारा बनाई गई वèत ुदोष रǑहत होने कȧ ĤाǓयकता  ͩकतनी है? [1 Mark] 

 


